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260 Factoring and Applications Lesson #5: Solving Quadratic Equations using Factoring

b) If the area of the cross-section is 260 cm?, determine the value of x.

Complete Assignment Questions #5 - #10

Assignment
1. Solve the equation.
a) (x-2)(x+7)=0 b) (3x-2)2x+5)=0 ¢) 5x(10-x)=0
= = 2 - = O
X = g\ - ’-\‘ )( % y _%- X O\\
.r2+2x=0 e) x2-121=0 9x2 - 100 = 0
x(xv3) =0 N0 Taxmo) 350 -
=+
X=0, -3 Sl X=X
g) 36x% =25 9x-4x2=0 i) 4(49-x%)=0

o

BT ) = (7)) <o

(ox=5)(6x¥s) =0, Yy

_ +
w=T5), X==7]
2, Solve the equation.
a) x*=3x+2=0 2+ 13x+30=0 ¢) X*+2x-15=0

(A=3)%)=0 7 (X HofXH3)=0  (X+5)(x-3)=0

A= c)\\ X< -0, -3 X=7,3
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Factoring and Applications Lesson #5: Solving Quadratic Equations using Factoring 261

d) 3x2-10x+3=0,,)3rc‘ 2x2+3x-35=(%\7'@15-2x-x2=0

A=K -\RY3  AXHOX-TN-3S “X>-ax¥ |5 =0

3% (x-23)-) (X-2) ¥y IWSD X rax-1s =0
(33%2) (x-3) =2 (=PI (Y1) (x-3) =0

o =77 -
x="s, X= =\ S x= =13
3. Solve the equation. X __]j
a) % +5x=7 b) 6x*=7x+3 — 1"\C ¢) x{x+4)=32

A =0 0X>Tx=%=0 XAy =23 - ©
’ AN -QAX T2 X-Axvax-3=0  (xr&)-4)=0
Xlary -1 (@) AXQEIINES) )=y
(XD &R =0 (3>!’r\) Bx—>)=0
X’\\’jla\ X‘:'llg,all
(x-3)(2x+3)=5 e) (2x-3)=1 @(x+l)(X-l)=5(x+l)

. - 13y =) “\=5
. J X ¥3x- b X "cl -’E’ Uy*-\ax &= O & X\;_ 5:—*520
e AXF-23x - =0 4(xP-3x1a)=D (x-B)( Y1) =O
2T E KW =0 A (X-a)(X-\)=0 oxy
(X 1y ¥ (AX-T) x=a, X="b,-|
(AF3) (3%-17) =©
o
« D01VE Zeequatmn. \l — . 5 ) +
SETI oy @ueenx iy
5 6" \a- ] A > O = Y& r¥h- ) 4l
ba™-a\aka -1 =@ S S SR (!
= = - -
3n (=) 1\ (26-1)© @\L(:% ?a)\:—js(% o
(30\ *’\)(JG”‘\ K==, 3 )
I T d ) }a\
8- 3) &
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262 Factoring and Applications Lesson #5:  Solving Quadratic Equations using Factoring

@The diagram shows a piece of wood of uniform width x cm.
RS=10cm and ST=7cm.

" = i |

a) Find the area of the piece of wood in terms of x.

TAFOXE X F = X

0

A= VIREX ST ‘

b) Find the value of x if the areais 60 cm?. T__—1

X+ %X >==bO *| 7

X\~ o =0

/
(X +a3y(x-3) =O x;‘}@é X=3

Consider the arithmetic series2+5+8 + ...

Determine the number of terms of the series required to give a sum of 222 by developing
d solving a quadratic equation.

@The height of a triangle is 8 mm more than the base. The areais 1725 mm?. A=
a) Write a polynomial equation to model this information. =

=
\g-—- ArE o X (XTD)
3T = XONEXY
X>YBA BNY =0 -
FOR) A= s A
g)xne:n%i%e) ﬂclci(eightoftzen'iangle. htljh* =AD

—

NTIIRANS. The complete solution to the equation x(x - 1) = 2 is
Chuoice

A, x=0 and x=1 XQ"\X_C)‘ = O
orar N COL [CONEE
. x==2and x=1 X‘ (9) - ‘
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Factoring and Applications Lesson #5: Solving Quadratic Equations using Factoring 263

The equation 24x% +2x = 15 has solutions x=a and x=- b, where ¢ and b are
positive rational numbers. The value of b, to the nearest hundredth, is .

(Record your answer in the numerical response box from left to right.) 0l €13
TR -\Y =O -}.3"5&:0
A0 X EXAST =0 €
W (ox ¥5)~3(bx ¥$) =9
(4x-3)(6X TS )
y=3l4, - (4

The sum of the first n natural numbers is given by the formula § = %n(n +1).
If the first k natural numbers have a sum of 496, the value of k is .

( rd your answer in the numerical response box from left to right.)

Answer Key
1. a) 2,-7 b) 3,-3 €) 0,10 d) 0, -2
e) =ll n = g) =3 h) 0,3 i) =7
2. a) 1,2 b) -10,-3 ¢ -5.3 d) 5.3 e) 5.2 ) -53
7 1 3 7
3.a) -3,1 b)) -1, 3 ) -84 d 2,7 e L2 £)-1,6
a.a -3, wm-1.3 5. 8) xl+17x cm’ b) 3
6. 12 7. a) x*+8-34520 b) 23mm
8. C 9. | o] .| 8|3 10. 3 | 1
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